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V Semester B.Com. Examination, October/November 2019
(Scheme : R.S. 2016-17)(Freshers of Oct/Nov 2018 and onwards)
BUSINESS TAXATION - 111

Time : 3 Hours Max. Marks : 80

Instruction : Answer all parts.
DR RNAYAR SVZOA.

PART - A
AL Tl

Answer any two questions. Each carries 20 marks.
odRPHRTAR HTE TFRPR wIdA. T3 TBR 20 0INW,

Q1) Suguna and Susheela wants to commence a business. The estimated profit of
which for the year are ¥ 5,00,000. They have two options for selecting a form

of organisation https://www.uomonline.com

a) Company
) ¥ 2,50,000 cach as share capital and 1,25,000 each as loan at
12% p.a.

i) Salary T 1,00,000. p.a. each

i) Distribution of remaining profit as dividends equally.
b) Partnership firm

) 12% Interest on Capital of 4,00,000 each

iy  Salary ¥1,00,000. p.a. each

i) FEqual distribution of remaining profits

Assuming that company liable to pay Income Tax @ 31. 2% and Dividend
distribution tax is 20. 55%

Suggest which option is better from Tax planning point of view.

PTO.
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Q2) a)
b)
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Romore TH3) HBeS 2,08 ITTOID, TWBOPALS WoRATRT. A3
SOTOED SN T Rey GR. 500,000 SNTIT. QRON AT wéaima
ﬁo:’éﬁvmi 803% SRBERWI BRTIILTT.
D)  BOTD
) TW3cdeyth 2,50,000 Bo. Fedb womERY ) TBSRLD
3p. 1,25,060, woars Be. 12 803 0 P,
i) HSokeeone woaFE G, 1,00.000 eI
iii) Ve CorEm, XRTN CoEROT HOTH BOWT.
) TR0 ﬁO"f_‘g’
) BB cdezte dw. 4,00,000 woBmey QWS dedd Be. 120,
u%.
i) Zdodedne SeaFs de. 1,00,000 He3.
il) ened @aejwaﬁl BTN TOIT[/O.
FOBROI0 TeISRWETT SreedION BT B¢ 31.2 I L0
&Zdmse 30N 3e. 20.55 Q0T FoRA.

3R odeeko cfe)qg,soa:ow 03303 803% wgmmhd I el ANInte] wj\
TOeH R,

What is Goods and Services Tax? State the features of GS.T?

From the following information compﬁte C.GS.T and S.G.S.T payable.

Goods and Services Rates of GS.T Amount
1)  Chocolates 18% 5,000
ii)  Sewing Threads 12% 2,000
iii) Hard Rubber waste 5% 10,000
iv) Fresh Vegetables 0 4,000
v) Auditing Services 18% 20,000
vi) Soap 18% 60,000
vi) Hand loom items 5% 8,000
vii) Floor tiles e 18% 12,000
ix) Fruit Juices 12% 1,200
X} Services to S.EZ units - 40,000
22-
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) ROH Bewo 30K HOTVeD? XTH Feamo JON0D OFANSE 9.

) 8t IVNT TRHINVOT HRSIBeTT oy, XOBD Acwo 30N )
Do, pitol SREAIAD) éoﬁccba*bé FORILBOWD,

Xo% FE Besdrisd Ao% Rewwdor @8 | de
) m&mde&s‘ 18% 5,000
i) BrORDET 12% 2,000
iii) A@R YT T, 5% 10,000
iv) T IoTOMH 0 4,000
v) Jemodegse Jed 18% 20,000
Vi) AR 18% 60,000
vil) T IRD 5% 8,000
vili) S Boried 18% 12,000
ix) IS OR 12% 1,200
X) QBeR BOHFF IOoDT

Puss DeRTT Leal - 40,000

Q3) Shine Co. Ltd. propose to increase it’s production for which it will requires
¥50,00,000 additional finance. Company can earn the income before interest
and Tax @ 25% Company can raise the debt @ 12% interest p.a. As a Tax
consultant suggest which of the following alternatives should it opt.

a) By issue of equity shares
b) ¥30,00,000 Eq shares; ¥20,00,000 debts
c) ¥20,00,000 Eq shares; ¥30,00,000 debts

Assuming that company distribute entire amount of profit as dividend. Rate
of Income Tax is 31.2% and Dividend distribution Tax is 20.55%

What will be the decision if Rate of Return on Capital Employed is 35%.

3 oTR0 I, WRESCP, BUNELYD B0 . 50,00,000m
Fromas enIOnID. 2G B FORA Bee: ToTRoky Red . 25
ahﬁ)'r‘s:tﬂ. FOTACKY ToFE e, 12 08 FOBY WUTI, SfodbwETNS.

3ort FUBrRCTRN egy T YN Todwr oPNYY cIRFTY, Yol IRRZAYLD
Rod JeBDD.

-3-

https://www.uomonline.com

WOd auUIfuOwoN mmm//:sdny



WO duIfuowon” mmm//:sdny

‘Thttps://www.uomonline.com

21756 | M-8036
9) Ens, Zednd deddod o
2) Gw. 30,00,000 ZeBrZRenish; ce. 20,00,000 Zo©
%) Sw. 20,00,000 mERITecNs; Ie. 30,00,000 O
BOBROZN RATAHT DT URPRIZ, ToL0oTEN BODIJTIOTD DA, ST
gonrony Je. 312 03 wvgRed HITHD 30n @Oy Je, 20.55

2,00 3e8 woBmey BeBEoD FHedT Nedod TOY Je. 35 T&AGT. AT,

SETHREISC 394,

Q4) a) What are the different types of G.S.T.? Mention the G.S.T. Rates

b) From the following Transactions of Mr. Shashikumar of Mangalore
compute aggregate turnover under G.S.T. Act, 2017.

3

i)  Goods supplied to dealer in Maharastra 3,25,000
i) Services provided to Poorvi Co. Ltd. Bangaluru 75,000
iii) Sale of goods to a businessman in Japan 2,20,000
iv) Transfer of goods from mangalore branch to

Mysuru branch 80,000
v)  Supply of Services to Mohan Bhandari of Jabalpur

(GS.T. rate 0%) 60,000
vi) Goods received from unregistered dealer 15,000
vii) Sale of exempted goods to customers 10,000
viii) Sale of goods to merchant in Pandichery - 65,000
ix) Goods supplied to Job work and returned after

completion 50,000
x) The amount of CGST and SGST paid 45,000

2) OO TPOE AoH A A oRPDRH? A0H WA B &
BONYR, SR

D) S FUNT DHIOWINVOT 8¢ JdeHTTT FONRYRDT. QWS L
SRooRR, RUB Hewe $on wody 20170 TFed T SHRARD.

3
D ebweoeEd BOTT RoRNYEY TRGAT 3,25,000
i) TRIF B0 LBonded GEOR X WWNATY, 75,000
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) TS aédmd%aﬁ AOBNY WR0E. , 2,20,000
iv) ROBRYR, dornshedd Toeconm WyReL &N

WMF OWATR). 80,00
V)  RRBT Pomd BWCTTT QWOR BeSodhad,

pelm) (Rom Aeso 301 T3 0%) 60,000

Vi) RRCTRONAT IJTOZROT RoWNES) BB, 15,000
viiy SEpowd WEn Aotridm, MECE

ST TR, 10,000
vill) TR0RWONH FMIRTHAIR FOBDRY BT 65,000
ix) 1H8R IOTTYN ROBNRII, BRTAD FOF
TREIFRPOBIOZC PTAT TEOILTONTS 50,000
X) 303 P To XTB Xewd ION TNWSAT)Y 45,000
PART - B
PALY A Ml )

Answer any two questions. Each carries 10 marks.

WBRFTTTR SCE TFER «0Z0R. T8 IJJE 10 oSN,

(5) What is Tax planning? What are the differences between Tax Avoidance and
Tax Evasion?

301 Cdeemd 20TBeDH? Fort BprdewE W 301 BosITI
ST ITINRRTH?

WO duIfuowon” mmm//:sdny

06) From the following Transaction State Type of G.S.T. payable by Registered
deaier of Karnataka.

a)  Goods sold with in Karnataka

b) Goods supplied to dealer in Madya Pradesh.
¢) Goods Export from Mysuru to Japan

d) Purchase of Machinery from Germany

e) Royalty paid to a company out side India

-5-
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- Services provided by Indian Company to it’s subsidiary in America.
g) Supplied goods to a businessman in Pandichery
h)  Goods Received from Maharastra
i)  Goods Supplied from Bangaluru to Mangalore
j)  Goods Received from unregistered dealer of Hubli

81 $UNT BHLITLINCOD BTVFLITT RO HIRORD CINE TFTT
JOB ) A IOROLT, THSRLIeR.

D) BIorWITY XN BRTE

®) DETEBT TTOR RTBRYD), TR,

%) <OBRYEY SyBROROT wIREH c@ AV T AT

Q) =IDFRNOT CLOFHTR, VOO

F) PHOU3BE TROAT TOTAIN TeRPS CRTVIZTH

TS0 TOTHOD WHeLIBINH 37, YRS FOTAR Fexd LRI
%) ToRBOCNYT mﬁmd?—g’o‘:ﬁ ROBNT0, m:ﬁém%.
ézsf)mmo'aﬁaocﬁ ROBRNTIY, ALTOAT

D) [T LonERdA0T onwndn msﬁag

) IPYod JROWINIT WYTOOWOT RTINTRY, TEOWLIHTH

Q7) Ambani company needs 10,000 units of a components every year for next 5
years. Components either to be Manufactured by the co. or bought from the

market.

Other Particulars are Cost of Materials T12 per unit
Direct Labour cost T15 per unit
Variable over head I 14 per unit

The company purchase the Maghine for this purpose by borrowing loan from
3ank. The present value of cash out flow for the 5 years on account of loan
will be Z4,00,000.

What will be your decision if component is available in the market for (a) 52
per unit (b) 48 per unit.
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oL BOTAN OO 5 ITERYSIA T THE 10,000 PLIIRY SRFOCHI.
8y TUINTIDH, TOTICHL YuIHHREE) LTI DWPTLTLIONOE D0eOXIEE)

o &)
2ET_BR&LINW
N, B Se. 1239 P
X6 BRrd By . 1518 Fusy
aﬁﬁaaéﬁaamd ﬁ&r\eéﬁ“* or. 142 a?&aéﬁt
3 YOG eTFN éca:‘i"m CONCT  ROTBD owoga’sa'bq EMeNaratind

QAT 'ji:é c,jtf INOT BT IO a:'ée:és.S SRENYN dre. 4,00 {}00
3 TN Efuuti:lﬁu 0B (2) Te. 52 TEPued (W) Sw. 48 TdFusg
d@dmﬁoam’a cum NDeF O3

08) Write any 10 benefits of GS.T?
oL LT Acmr 30RCK T TUORe Ty AN, WO,

PART - C

RO =2

Answer auv fowr qoestions. Each carries 5 marks.
SRNCECGE TECn o3t I8 TEH 5 LoInw.

©9) Wrisr a nowe on “Mixed S}'pp]}j’.
"‘-.:.gi:::adﬂi' o sxed wgclcd.
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QlMrBhuvan of Bangaluru supplied Goods for 80,000 to Mr. Chandan of
Chamaraja nagar. Mr. Bhuvan purchase these goods for 59,000 (Includes of
CGST @ 9% and SGST @ 9%) from suresh of Mvsuru.
calculate :

a) Total price charged by Bhuvan.

b) Netliability of GS.T. payable.
Bonendl PHSTSTST de. 80,000 I FTRAYS ), WERTVUINCE BOTT
o=on :fuad@%amc ZWS® TSI ;W ROBNS #70, OR. 59,000 (¥cow HOH
Kesze BoR Be. 9 DB oo, ROV Heaw 3e0n 5 9 %e0m08) BxedE
wBeZ SO °\C=ﬁ>~c§; G VWNYI, Sgmes.
R) DT TIWL ARTWITOT 20830 aj'l_.a

W) TRISXLZcTT DY OB Heow 308 Demnodd
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https://www.uomonline.com

WOd auUIfuOwoN mmm//:sdny



wod duljuowon” mmm//:sdny

https://www.uomonline.com

21756 M-8036

Q11)From the following information compute total value of supply for the financial

year 2018-19
a) Intra-state supply 315,00,000
b) Intra-state supply 316,00,000 (Nil rate)
c)  Intra-state supply which are
exempted under GS.T 320,00,000
d) Value of inward supplies on which Tax is payable
under Reverse charge Mechanism ¥6,00,000
B E9NT BRLIRVOT by TWRGE IFPOBW, TeoweR IR 2018-19 3,
FOWIRWD.
) CRBBAINT TG dw. 15,00,000
D) CeuGERYNS TR S, 16,00,000 (33 ©T)

N) ComBRENS WRd3 @

X003 Zewo 30Rood Dmookd =AW Tw. 20,00,000
Q) &oaz’maﬁ aﬂ.rac'iej'c“ Sheed BTl T

@u ook ] E%@d}i Ebt% tw. 6,00,000

Q12)What are the limitations of Tax planning?
301 O3REBION NSNTIIH)?-

Q13)What are the objectives of corporate Tax planning
ToBrdees 301 cleewRod Yot eBnTed?

Q14)Define a ‘Person’ U/S 2(84), GS.T. Act, 2017.
%o Bewmo soody 2017 TJo T 2(84) T TT '[P oI, TYSRAIA.
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